STLC type derivation tree (1)

T-VArR
[aa— Th]Fa: Ty
T-ABs

I F (Xag.a0) : (T1 = T1)



STLC type derivation tree (2)

T-VArR — T-Var
[ag = (T1 = T1) | Fa:(Th = T1) l[a3— T1]Fa3:Tq
T-ABS T-ABs
I+ (Aag.a0) : ((Ty = T1) = (T1 = T1)) 0+ (Rao.a0) : (T1 = T1)
T-App

[I = ((Aag-a0) (rap-ap)) : (T = T1)



STLC type derivation tree (3)

T-VAr. T-VAR
v T (s T (B T % (T ) o oo (e oo (o Tlr oy
o oo (= T s (= T F o (Tam 7o) o Ban (= Tarn =T Ga): T,
oy 2 Ty a0 (T ) 20 (T =TI or Gom) i 75
[a7 =+ (Ta = Ts) s =+ (T3 = Ta) | - (Aaa.(a7 (36 22))) : (T3 = Ts) - ABs
oo > (T = 7)1+ O o s 20)) (Te > T > (B 1) 1

0+ (Aao-(Aar.(Azz-(a1 (a0 22))))) : (T3 = Te) = ((Ta = Ts) = (T3 = Ts)))



STLC type derivation tree debugging (1)

T-VAR T-VArR i
3= (= T)]Fas: (T = To) 3= (Th= T2)]Fas: (Th = To) (i=T)# T

[z (Ti= T2)|F (a3 a3): T2
[+ (Aao.(a0 20)) : ((Th = T2) = T2)

T-Arp

T-ABs




STLC type derivation tree debugging (2)

unbound variable a;

T-Var
[aa — To]Fa;:T3
T-ABs

1+ (Aag.a1) : (T2 = T3)



STLC type derivation tree debugging (3)

no case for [ag — T1 | & (agagas) : Ty
T-ABs

I F (Xag-(a0a0a0)) : (T1 = T2)



